ERSAROREERT —I X—RIBIST—F 20225E11H8H (A) 10mIEkfE6H
mCT HSR—% ‘(fﬁl B ‘[%EH%FEEH - | & 12000 B
[AE%E) 1 & :400,000F ~ 23%&:140,000 9  337%:80,000MH  43%&:40,000H  53&:20,000H
& RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
g~ BaAE : - - KEZFER (BEE)
1M SAIHAIT—L 4t 4 54.0'¥ 1.(1_3).9 3-3 37.9 2 (4+819) 7]\2?%11;7&
RS/ vIT4 BHUYI—VIT ARETa—T7—LA
- . AR 13, - . - EREHSLE (BRRE)
2 V—T LhHhAH— e 56.0 1(71%:? 22 -1 10 (5+322) 7K§%§
R:TALk—L B:YvROIVR iy —3=
LLIAES S, : - - RERR (KR
1 c B R—FIRTA + 4% 5 T 1.(1:3.5 6-5 37.8 4 (4+771) e (KR)
RANRKRTNT B FUFI-F “RBT7—L
AAEE : - - FESF (KR)
4 T—TH=I w7 | 3 by | 7R P B
RIIZARIT—=IVIF— B:T—-ILTS5V Shall Farm
. S,y IS 4. - . - EBEHE (KR)
3 - BERL 2 "3RS ford R © % leame
RiFVh—0 B:F7UF—0vavS {hEFHUS
<~ HA 45 | AWRE 1:14.7 9-9 37.8| — 1 516 | BRESLE (EEfE)
6 =255 -4 0 @E) 5) e
R:bh—trya—5y B:IT7ANNS— AR IRXTAT7—LA
o= 5 | BREE 1:14.9 6-6 8.2 - 7 559 | MEPZ— (KR
71111 | FARER—RZ 56.0 m (+a) | BAE
RPAIVNDTFH— BUIZEVR B BT
— » ﬁJ: : - - ﬁﬁﬁﬂ (AGR)
N = SRR I o [ 7
YZIRI—ZZRI— B:TF—IYVT e En
» ~ )R, — 4t 4 1SISE 1:16.5 6-7 39.9| - 8 466 | FENR (KR)
9|81 TIPEZRII 54.0 a0 (o | BB
R:RySAYF B:O0-FvR INIT7—L
=, SR : - - =HEE (KR
w7l gl 74—275vvx i 6 oAt 1.(177).7 10-11 | 40.7 11 (4_419) iﬁf&m v
RiJ4 I hD—LEY B:ESI-FT475 EvIUy RI7—LA
N 3 Q 4 4 | WAKES 1:18.9 4-10 25| - 5 501 | /\THERME (R&FE)
111719 =T #—d—JUR 56.0 @) #3) |HHRE
R:IvVTIWRTy b B:LAViKk—/N\—hk wH B
@ I1—F—BE&IEfI
13—7—
20—F—
30—7— 5,10,4,9,2,(1,7,11),3,8,6
40— — 5,10,4,2,7,1,(6,11),3,9,8
o ILRE
BB 4 370M4 JA R 4-10 3,570 % 3E 4-8 3,080 3EE 4-7-10 17,680M3
B B 4 1509 4-7 360 5 E 4-10 9,590 3EH 4-10-7 187,860M
10 2,290 7-10 3,790 Ba 4-10 18,680
7 2004
ABCDOVTIRHTERERRODDZ, THERAILZETL



